Wykres koordynacji P3-120s

s Stadtraum

LISA+
Czas [s] 11 11
120 6
50
LT ] B Ty 4 / 4 2/ R
100 £-- E"%v\.\.\.\k\\\\\\\ ) / / 7z
I I IR FRIS 0
19.9.9.9.9.9.9.9.9.9.90 0.9, %
9% SR Rn SN 90
- YRIHSRRREIRHKZRRIELKHKRR IR K LIRILRR R R e el e -
O.09.9.9.9.9.9.9.9.9.9.9.9.9.99.9.9.9.9.9.9.9.9.9.9 .
2RI )
194999 0.0.0.0.0.0.’.0.0‘0.0.0.0.0‘ Q’Q 9e%% 0.0'0.0.0 ¥
80£- SHXHRHIRHARHIARLHAKS G AERH IR IIR AR H AR IR IR RR I IS NNNNNNNNNN - = = = = = = === o= o ofo oo m o oo s o s s s s s s s o s s s s o s s oo s s ososossofco oo oo oo oo -
I RIARIILERIRLIIELEL PSS
SO L 258 o2
70E-- QEISKEELLIEKEEL BRI LRI /1 /7 7 7 77775k 90 7 7T 7 7 77 = oot I
RS %
S0.0.9.9.9.9.0.9.0.0.9.9.9, 99
60E-- O RRRIKAAIKLARK. % N o
SO 9.9.9,9.9.9.9.9.9.9.9.9. v,
QOIERIRIKEIEL
of Sk 7
K ARARAX KA
2e20%0a%29 5
40E- / A 2, 4 R
1 S O e s 2 4 A R
N N e  ree.—————— - X X X g g 4 4 A - - --
120 25K
50
1POE---|- = mm e m e e e - - — o N > N D \ ————————— £ 4 4 4 2/ 5
N N N \ N N ”\ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 50 -4 Z, -
L e i 50- - - —F 4 é 4 4 2/ 2/ 4 - ---
25
1 e e e 2/, 4 2, R
50
0 S T 50 _ N\ RS X X X 4 / / // I
2
0 56 5
217 244 333 roga [m]
256 179 311
P3-120-rano P3-120s-rano P3/A3-120s-rano P3-120s rano
Serb-Naram Serb-Tesco Ser-Wilcz Serb-Aqua
w1b w1b W1b w1b




